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1.

Class: IV
Subject: English

D.AV.INSTITUTIONS, WEST BENGAL ZONE

PERIODIC TEST 2/HALF YEARLY EXAMINATION
SESSION:2022-2023

SECTION: A—READING (10 Marks)

A. Read the following passage carefully and answer the questions given
below:

Dolphins can be found all over the world and they are closely related to
whales. Dolphins are extremely intelligent. Dolphins can recognize
themselves in the mirror, and after humans, dolphins are considered the
second most intelligent mammals on the planet. Dolphins are highly social
animals as they live and travel in groups known as pods. They use various
kinds of sounds such as clicks, moans, barks, etc. to communicate with each
other. There are more than 40 species of dolphins found all over the world.
Though most of these species survive in salt water, some species of dolphins
can also survive in freshwater. One of the interesting facts about dolphins is
that these sea mammals sleep with their one eye open. This happens because
their brain sleeps in shifts. Dolphins have an amazing long lasting memory.
Dolphins live in the sea, but they can’t breathe underwater. They breathe
through a blowhole and have to come up for air every 15 minutes.

1) Dolphins are social creatures because-

a. they behave according to the social rules
b. they are intelligent and harmless

c. they can be found everywhere

d. they live in pods or large groups

1) Based on your understanding of the above passage state whether the
given statement is TRUE or FALSE.

‘Dolphins have the longest memory power.’

iii) Find the word from the passage which is opposite in meaning to ‘dull’.
Iv) List the interesting facts about Dolphin that make it different from other
creatures.

B. Read the following passage carefully and answer the questions given
below :

Thomas Alva Edison was born on February 11, 1847 in Ohio. He had a
serious hearing problem due to which he had poor performance at school. He
was often teased by other kids. Edison ran away from the school. His mother
was forced to teach him at home. He enjoyed reading chemistry books. He
never stopped studying and experimenting. In 1879, Edison discovered the
first successful electric light bulb. This invention made Edison not only rich,
but also famous. Edison worked until he was very old. He died on October
18, 1931.

Maximum Marks: 80
Time: 2Hours 30Minutes
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1) Why was Edison teased by other kids at school?

1) What did Edison discover?

111) Which books did Edison enjoy reading?

iv) Why was Edison’s mother forced to teach him at home?

SECTION: B —WRITING (20Marks)

Suppose ‘Express Travels’, 46 Newtown, Kolkata offers a package tour
for 4 nights/5 days in Shimla, Himachal Pradesh for Rs.8000 per person.
Prepare a travel Ad for this tour.

You are Rakesh / Rita living in Kolkata. Write a letter to your uncle
inviting him to attend your birthday celebration and bring a nice and
useful gift for you.

OR
Imagine that you are Ankit/Ankita. One fine day while coming from
school, you helped an old man to cross the road. Write a diary entry
expressing your own feelings.

Write a paragraph on the topic “Visit to a Circus’.
OR
Write a paragraph on the topic ‘My Motherland’.

SECTION: C - GRAMMAR (20 Marks)
Fill in the blanks with suitable collective nouns to complete the
sentences:

i) A of monkeys jumped onto the wall.
i) They booked a of rooms for the birthday party.

Fill in the blanks with the opposite gender of the underlined nouns :
1) My aunt and gave me a gift.
i) The and lioness are in the den.

Replace the underlined nouns with correct Pronouns:

1) Rohit is a good student. Rohit loves to play cricket .

i) Mitali and Mehul are good friends. Mitali and Mehul go to school
together.

Iii) Krishna’s mother is a wonderful cook. Krishna’s mother always cooks
delicious dishes.

iv) | saw a tiger in the forest. The tiger was roaming freely.

(1)
(1)
(1)
(2)

(4)

(8)

(8)

(1x2=2)

(1x2=2)

(1x4=4)
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Fill in the blanks with appropriate prepositions :

1) Some children are playing the park.

i) I will be going Mumbai in the summer vacations.

1ii) Mr. Singh divided the money his two sons.

Iv) My father did not want me to go to the movie friends.

Identify the Adjectives and State their kinds:
1) Rima is a brilliant dancer.

I1) There is enough water in the bottle.

1ii) He has bought two dresses.

Iv) Shyam has seen a huge monster.

Fill in the blanks with correct Determiners:

1) There are (many/much) people in the hall.
i) | want (an/a) ice cream.

1) This is ( my/mine) book.

Iv) He wants to eat (some/few) food.

SECTION: D-LITERATURE (30 Marks)

A. Choose the correct answer from the given options:

1) Rahul dug a small pit on the path where Raj was supposed to run

a.to help Raj to win the race

b. to defeat Raj

c. to strengthen his friendship with Raj
d. none of these

i) By profession Sunil Gavaskar was a-
a. cricketer

b. footballer

c. fisherman

d. teacher

1ii) In ‘Travel Plans’ the speaker would pop in the pouch of a —
a. rabbit

b. kangaroo

C. grasshopper

d. giraffe

Iv)The narrator and his family spotted a family of-
a. tiger
b. lion
C. deer
d. bear

(1x4=4)

(1x4=4)

(1x4=4)

(1x4=4)
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B. Write whether the following statements are true or false: (1x3=3)
1) The narrator in the lesson “Jungle Safari” saw the footprints of elephants,

bears and tigers.

1) When the narrator in the lesson ‘Travel Plans’ would become a giant,

then he would pat on the head of an elephant.

1ii) The fisherwoman noticed a little hole near the top of nose of the baby.

C. Choose the appropriate word from the aid box to complete the (1x4=4)
following sentences:

[ Aid Box- deter, topped, hole, frantic]
1) When the babies got mixed up, a search was made.
i) It was the happiest day for Rahul because he in the class.
1ii) The poet wanted to go through the of a needle.
Iv) The foggy weather could not the spirit of the narrator.

D. Write one word answer of the following questions: (1x3=3)
1) The chapter ‘Mix up at Birth® is an extract from the book

named :

I1) Write the meaning of the word - expedition.

1ii) Who is the poet of the poem ‘Travel Plans’?

Answer the following questions briefly: (2x6=12)
I) ‘T am happy that you have realized your fault, Rahul'- Why did the speaker

say this?

i) ‘I was totally ignorant of the commotion | had caused' —Why did the

speaker say this?

1) How did Gavaskar's uncle save him from being a fisherman?

Iv) What was the plan of the poet in ‘Travel Plans' after seeing everything he
wanted to see?

V) ‘My excitement was at its peak'- Why was the narrator excited?
vi) How did the lake water turn from silver to golden?

“This is your last chance. If you do not perform well in the term-end (4)
examination also, you will be punished.’- Why did the principal give

Rahul a warning and what was the reaction of Rahul on receiving the
warning?
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D.AV.INSTITUTIONS, WEST BENGAL ZONE
PERIODIC TEST 2/ HALF YEARLY EXAMINATION
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Class: IV
Subject: Mathematics

10.

11.

12.

13.

14.

D.AV.INSTITUTIONS, WEST BENGAL ZONE
PERIODIC TEST 2/HALF YEARLY EXAMINATION
SESSION:2022-2023

Section A
Write the number name: 863260

Perimeter of a triangle is 19 cm. If length of one side is 5 cm, the sum of
other two sides will be

Numeral just before 90,000 is

The smallest 5-digit number formed by using 5,4,3,0,1 is

570 x =0
3m3cm= cm

If Divisor =7 , Remainder = 3, Quotient = 3 then , Dividend =

The common point where the two arms of an angle meet is called the

Section B

Find the perimeter of the rectangle whose length is 15 cm and breadth is

8 cm.

Find the difference between the place values of the underlined digits in the
number-8756 1

Construct the angle 60°. Label the angle and write the name.

Rewrite the following numerals in descending order:
10,001; 11,001; 1,110; 11,100

If 7543 = 1000, then quotient = and remainder =

Find the difference : 28 km 175 m and 13 km 355 m

Maximum Marks:80
Time: 2Hours 30Minutes

(1)
1)

1)
(1)
(1)
(1)
(1)
1)

(2)

(2)

(2)
(2)

(2)
(2)
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20.

21.

22.

23.

24,

Section C

Draw a line segment AB of length 8 cm. At A, draw an angle of measure 75
degrees and classify this angle.

Write the periods of a 5 digit numeral . Also mention the corresponding
places of each period.

A roll of electric wire contains 78 m of wire. If 58 m 85 cm of wire is used ,
how much wire is left on the roll ?

Find the difference between the smallest number of 6 digits and the largest
number of 4 digits.

Find the perimeter of the following figure.

Section D

Mr. Gupta wants to fence his rectangular garden with length 16m and breadth
14m. If the cost of fencing is ¥ 235 per metre, then find the amount of money
he will need for fencing.

Find the product: - 5216 x 876.

A student was asked to write numeral for eighty six thousand and six. He
wrote 8606. Find the difference between the correct answer and his answer .

One dozen bananas cost ¥ 36. What is the cost of 720 dozen bananas ?

A book has 4325 pages. Riya reads 25 pages daily. In how many days will
she finish the whole book?

3)

3)

(3)

3)

3)

(4)

(4)

(4)

(4)
(4)
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28.
29.

Section E

Team A scored 478 runs in first innings and 345 runs in second innings .
Team B scored 389 runs in first innings and 472 runs in second innings.
Which team won the match and by how many runs ?

There are 2415 copies of story books and 516 science books. If each story
book cost ¥ 315 and each science book cost ¥ 450. Find the total cost of
books.

Riya walked around a square garden having each side 25m. Suman walked
around a rectangular garden having length 30m and breadth 22m. Who
walked more distance and by how much?

Divide & check your answer: 9885 by 46

Rahul stays in Nirmal Apartment. His father drops him to school every day
in his car travelling a distance of 9 km 320m daily. One day his father’s
friend Mr. Kumar visited Rahul’s house. While conversing, they came to
know that his two children Rohan and Sohan also study in Rahul’s school
only. Then they decided to do car pooling .Now Rahul’s father has to travel a
distance of 1 km 130 m more to pick up Rohan and Sohan and drop their
children to school.

a) How much distance will Rahul’s father travel now for dropping all the

children to the school?
b) What are the advantages of car pooling?

*khhkkkhkhkkkhkkhkkkhkkhkkhkikkhkkiikkikk
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Class: IV
Subject: Science

1.
a)

b)

d)

f)

9)

h)

)

D.AV. INSTITUTIONS, WEST BENGAL ZONE

PERIODIC TEST 2/ HALF YEARLY EXAMINATION

SESSION 2022-2023

Choose the correct answer from the given options:
Identify the bird to whom the claws shown in the picture belong to.
1) Duck i) Sparrow
1) Woodpecker Iv) Eagle

Which of the following statements is incorrect for the weeds?
Statement I: They consume water and fertilisers meant for the

crop.

Statement 11: They are useful to the cultivated plants.

1) I is correct i) Il is incorrect

i) Iis incorrect iv) 1l is correct

Some fruits like cashewnuts, almonds, are used after
drying them.

1) walnuts i) watermelon

Iii) tomato iv) all of these

The plant shown in the picture grows in region.

1) desert i) plain

iii) hilly Iv) hot and wet

Woodpecker : chiselling beak :: . probing beak
1) sunbird 1) duck

Iii) eagle Iv) parrot

The functions of the root are-

1) absorb water and minerals i) fix the plant to the soil
iii) store food iv) all of these

A long and coiled structure present in our digestive system is-
1) small intestine i) large intestine

Iii) stomach iv) food pipe

Which of the following are commonly used as vegetables?
I I 11 v

D18 | 7

1) Iand IV i) Il and III. i) 1l and IV iv) I and 11

As the plant grows, its roots become -

i) thick i) thin

iii) thick and woody Iv) thin and soft
Unwashed fruits and vegetables can carry-

1) germs of diseases I1) eggs of worms

1ii) dust and dirt iv) all of these

Maximum Marks: 80
Time: 2 Hours 30Minutes

(1x10 = 10)



b)
c)

d)

Fill in the blanks with appropriate words:

The stem of lotus is commonly known as
Fruits like watermelon, lemon and orange have

their fruits.

Is secreted in our mouth by salivary glands.
Leaves of plants which grow on hilly areas are

Digested food is absorbed by the walls of
and

The stem of maize plant is

seeds in

Woodpecker has a strong,

and straight beak.

To clean the feathers and set them right is known as

Banyan and maize plants have

roots for extra support.

A bud is protected by the

Rewrite the following sentences correctly:
The stomach is the largest gland of human body.

Carrot is an edible stem.
Seeds are present in leaves.

Plants like coconut have a conical shape.
The duck has long and slender beak

Match column A with column B:

Column A Column B
a) Mangrove plants 1) vegetable
b) Kathal i) wading bird
c) Small intestine i) plains
d) Jacana Iv) marshy areas
e) Sal, Sheesam v) complete digestion

Define the following terms:

a) Internal Organs b) Seasonal fruit

Differentiate between:

a) Roots of lady’s finger and grass
b) Claws of hen and woodpecker

Answer the following in brief:

i) Name the organ shown in the figure.

i) Write its function.

Why do aerial roots need to come out of the soil?
Give two examples of - 1) one-seeded fruit
i) seedless fruit

and leaves?

Give one example of each- i) Climbing bird
i) Bird having curved beak

2

c) Terrestrial plants

Ny

Why do free floating plants have air filled cavities in their stems

(1x10 =10)
(1x5 =5)
(1x5 =5)
(2x3 = 6)
(2x2 = 4)
(2x5=10)



b)

d)

b)

Answer the following questions:

1) The set of teeth that comes out between the age of six to twelve
years of age are thirty two in number. Can you name this set of
teeth?

1) State the types of such teeth along with their functions.

1) How many types of roots are found in plants? Name them.

i) In some plants, roots perform certain special functions. Mention
the special function in each of the following : Radish, Banyan

\§
1) Identify A and B. Write one use of each of them.
i) Flowers should not be plucked unnecessarily- Why?

What do you mean by webbed feet? How does it help the
swimming birds?

1) Make a flow chart showing the steps of cultivation of plants.

1) What are weeds?

Draw the following:

1) A plant that can survive in soil that contains very little water and
also name it.

i) Which part of such plants store water?

Draw the diagrams of claws that help the bird to:

1) Walk on mud.
i) Catch their prey.
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(4x5=20)

(5x2=10)
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1)

Choose the correct option from the given alternatives: - (1x5=5)

a) Sharing space teaches the children

b)

c)

5)

1) co-operation i) employment iii) education Iv) protection

In , Juan Paulo Bonet wrote the first book to educate the hearing
impaired people.

i) 1816 i) 2016 i) 1620 iv) 1602

The Navratri celebration of was presented with Garba and Dandiya
Raas.

I)Maharashtra ii) Haryana iii) Punjab iv) Gujarat

We must plant trees in our-

1) colony i) school i) house iv) all the above

are the Gypsies of Himalayas.

1) Dhangars i) Gujjars Iii) Banjaras iv) None of these

Fill in the blanks. (1x5=5)
The sharing of household chores the burden on one family member.

The theme of Inter — House celebration was the Indian

The windows of a house should have to keep flies and mosquitoes
away.
makes the bricks strong.

Steel industry started in India at in Bengal in 1870.
State whether the following statements are True or False. (1x5=5)

There is greater interaction among the parents and the children in a nuclear

family.

The visually impaired children deserve our pity.

The dustbin should be cleaned yearly.

Howrah Bridge in Kolkata is a cantilever bridge.

Bapuji preached dignity of labour in Sabarmati Ashram.

Match the column A with column B. (1x5=5)

Column A Column B
a) Family crafts 1) Japan
b) Society 1) Arunachal Pradesh
¢) Chimney 1ii) weaving, painting, pottery
d) River Lohit iv) Keeping free from odour and pollution
e) Burning the trash V) organized group of people

Define the term family. Name the two types of family. (2)

1



6)

8)

9)
10)
11)
12)

13)

14)
15)
16)
17)
18)

19)
20)

21)
22)
23)

24)
25)

State the meaning of sign language. (2

Identify the person from the picture. Mention his (2)
invention for the visually impaired children.

When is Id-ul-Fitr celebrated according to lunar calendar? What do you (2
know about ‘Idi’?

State the essence of all wedding ceremonies of India. (2
What is the importance of ventilation in an ideal home? 2
Illustrate how a bridge is useful for us. (2
List any two reasons causing a steady increase in the amount of garbage in (2
the recent times.

From the given plctures name the type of labour (Skllled / Unskllled / (2
Professional) ey : A : 0

Give two examples of manual as well as intellectual labour. 2
To encourage your family unity which three ways will you follow? (€))
Develop any three ways to grow sensitivity towards others. (€))
List any three highlights of Onam, the harvest festival in Kerala. (€))
In your opinion, why sunlight and sanitation are important for an ideal 3
home?

Distinguish between biodegradable and non-biodegradable waste. 3)
Identify the name of the festival from the above 5)
picture. Highlight the important features of this

celebration.

Enumerate the process of brick making. 5)
Describe how Dr. Mehta who lives in Keshavpuram with his team of 5)
children has converted a dirty and barren park into a lush green meeting

place for the young and old.

Make a flow chart on any three types of bridges with their name and

example. (3)
Draw two types of waste bin and name them. (2)

Label, locate and colour the following places in the given political map of  (1x5=5)
India:

a) Uttar Pradesh b) Karnataka
c) A state close to the sea  d) Bandra Sea Link Bridge
e) Mizoram
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